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‘Quiz 3 (open book) Mark /28

T(s) = 2x10%s? '
1. For transfer function (S + 10)(2S + 200)(S + 106) . (10 pOlnts 4/4/2)
(a) Write the transfer function in the form of A(s)=Am*AL(S)*Axu(S), Identify the mid band gain.

Identify the low frequency and high frequency response

(b) Sketch the magnitude Bode plot
(c) Estimate the gain at 10’rad/S from your body plot and compare it to the exact gain at this

frequency. or (d) draw the phase bode plot
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[image: image2.png]2. The circuit of an amplifier is given below. (15 points 2/4/4)

(a) Determine the mid-band gain. :

(b) Draw the small signal equivalent circuit for low frequency response, derive the low frequency
response, note that there is no cap or resistor at the source.

(c) Draw the small signal equivalent for high frequency response, derive the high frequency response,
note that Cgd=0
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